
Topic : Definite Integration

MATHEMATICS

DPP  No.  73
Total Marks : 29

Max. Time : 28 min.

Type of Questions M.M., Min.

Single choice Objective ('–1' negative marking) Q.1,2,3,4,5,6,7,8 (3 marks, 3 min.) [24, 24]
Multiple choice objective ('–1' negative marking) Q.9 (5 marks, 4 min.) [5, 4]
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4. Solution of the differential equation (x2 + y3) (2x2dx + 3ydy) = 12x dx + 18y2 dy is
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 = 6 ln (x2 + y3) + c (B) x2 + y3 = 9 ln (x2 + y3) + c
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 = 6 ln (x3 + y2) + c (D) x3 + y2 = 6 ln (x2 + y3) + c

5. Solution of differential equation (2x n y) dx + 
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 dy = 0 is

(A) x2 n y + y3 = c (B) x n y + y2 = c (C) x2 n y + y2 = c (D) none of these

6. If solution of the differential equation 
dx

dy
 = y2sinycosx

1

  is x = cesin y – k (1 + sin y), then k =

(A) 1 (B) 2 (C) 3 (D) 5

7. A curve passes through the point (2a, a) and is such that sum of subtangent and abscissa is equal to
a. Its equation is
(A) (x – a) y2 = a3 (B) (x – a)2 y = a3 (C) (x – a) y = a2 (D) none of these

8. If [·] represents the gretest integer function, then  
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dx is equal to -

(A) 0 (B) 1 (C) 3 (D) None of these

9. Which of the following equation(s)  is/are  linear differential equation.
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1. (C) 2. (B) 3. (C) 4. (A)

5. (A) 6. (B) 7. (C) 8. (C)

9. (A)(C) (D)


